BunmHE &R15)

(1) 2dL = om’
(2) 3mm3 = omL
(3) 4L = oem?
(4) Tm3 = odL
(5) 3L = omL

DT M TEHNSH AR (https://chugakujyuken-sansuu. com/) & YERTHA YL O—KFTEET,



HDWME AFEQS)

(1) 2dL = 0.0002 m>

<fR3H>

Im> =1mxImxIlm
=100cm*x100cmx=100cm
=1000000cm?>

1L=1000cm3>Z DT 1m3(£1000000+1000=1000L

1L=10dLE D T. 1m3(£1000x10=10000dL
£2T. 2+10000 = 0.0002m?>

(2) 3mm3 = 0.003 mL
<fREi>
ImL =1lcm3
ImL =IcmXlcmxlcm
= 10mmx10mmx10mm
=1000mm?>

£27T. 3+1000 = 0.003mL

(3) 4L = 4000 cm?
<fEE>

1L=1000cm?

£2T.4%x1000 = 4000cm3

(4) Tm3 = 70000 dL

<R3-

Im> =1mxIlmxIlm
=100cm*x100cmx=100cm
=1000000cm?

1L=1000cm>* B MO T. 1m>(31000000+1000=1000L

1L=10dLBO T, 1m3(£1000x10=10000dL
£2T. 710000 = 70000dL

(5) 3L = 3000 mL
<gRBt-

IL=1000mL

£2T. 3x1000 = 3000mL

COT) U & TEHUSS S A4 X]  (https://chugakujyuken-sansuu. com/) & YEHTHOUO—KFTEFET,



